]

1 1  The President of India has launched mobile app to raise awareness about
; female foeticide and sex selection. :
é (A) Beti Bachao (B) DBeti Padhao
(C) Selfie with Daughter (D) Meri Beti Meri Shaan
} %%Mﬁﬂ%mqmmmﬁwmﬂaﬁﬁmﬁﬁﬁm
| Frarger B Wi REAT | \
{ (A) T meral (B) =3 ggreh
‘:C)Mmﬁh @ & 3 A e
’ 2 How many position detection patterns are there in QR code 7
AT = ¥ fre geflye Bem A B E 7
(A) 6 (B) 5
(C) 4 | (D) 3
. Which is the first Indian (indigenous) microprocessor 7
) (A) Parashakti (B) Bhaskara
(C) Pratham (D) Shakii
qe W (wdsh) aEEeEET w®H o d 7
(A) Toafe (B) wEt
(€)W (D) i
4  Udaipur Solar Observatory has been designed as per model of which International
Ynlar Observatory 7
(A) Solar Observatory at Big Bear Lake, California
(B) National Solar Ohservatory at Sunspot, New Mexico i
(C) Kill Peak National Observatory, Tucson, An’zufm
(D) Apache Point Observatory, Sunspot, NEW_M':{“““
W@Taﬂmﬂﬁmm@ﬁﬁmm%mmwmﬁmwﬁ
(A) g‘rfz'm‘&nm,ﬁ‘ﬂﬁﬂ?ﬂﬁ'i. EAL LR ;
(3) T YT SETE, A, =7 il
(C) forz i T A, EHET, ST
(D) @ Tz A, T, = AfFE!
5 When was "Rajasthan 1T Day’ celebrated in 2018 7
(A) 1 January — 4 January (B3) 19 March — 21 March
(C) 20 May — 24 May (D) 18 December — 22 December
of 2018 & wmer g &, few T H T T T W7
(A) ]Wﬁ—‘iﬁﬁﬂ'ﬁ (13) 19 w1 — 21 o
(Cy 2078 — 24 (D), 18 fewmr — 22 famat
71 Y 2 [ PT.O.
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In a color monitor, the refresh buffer 15 also called :

(A) Frame bulfer (B) Pix map

(C) Bit map | (D) Screen buffer
i AT o Ty 9wt &1 1 o T §

(A) ¥ T (B) fra A9

(Cy faz g t{pr A gHT | J

)

What is the name of NASA's unmanned lander which recently landed on Mars 7
(A) Insight (B3) Shakti

(C) PSLV (D) Exomars

T 6 AEE det m A F, B oew & F i 3w sawm o

(A) Tz (B) e ‘

(C) drmsam . (D) e

Due to which factor, coaxial cable is less susceptible to noise ?

(A) Inner conductor (B} Diameter ol cable

(C) Outer conductor (D} Insulating material

T oo 6 wwy F woni ww ot B W e e A E

(A) sl Feger (B) Faw =t =

(C) =l Heaet (D) Tk wEm

,1-!'1. d*‘-"f'if:‘-‘ for converting handwritten impressions into coded characters for computer
input, is :

(A) Keybeard (13) Mouse

(Cy Digitiver (I Printer
mﬁmﬁmﬁﬁamﬁﬁmwﬁmﬁﬁﬁmﬁﬁﬁﬁami:
mj.;maﬁ (B) %8

(G fefmemar (D) =g

VLSI technology was converled into which technology during the {ilth generation 7
Frgzt @ U 98 VLS a6 %) e e & oftetia Re e 7
(A) ULSI (B) CLsI

(C) LSI (B3 KLSI

47 | }-j 3
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Rajasthan Portal ded;

and certificates b‘ifﬂ%dh provide digital verification platform for official docum
(A) i-fact

(C) RajNet (B) Raj e-Vault

(D) e-Sanchar

“wmﬁmmamﬁﬁmmﬁHMﬁﬁﬁmm

i L 2 (B) I §-aiee

ER I

W'h.ﬂ:“ W i a ¥ilm L i
28 Bhantaghah digital family scheme launched in Rajasthan 7

(A) 4 Sep,, 2018 (B) 7 Sep., 2018

(C) 11 Sep., 2018 (D) 15 Sep., 2018
ﬂmﬂﬁﬁﬁﬁmﬂmﬁhﬁqﬁaﬁmmrwﬁmmw ?
(A) 4 foeae, 2018 (B) 7 fireae, 2018

(€) 11 =, 2018 (D) 15 fhaae, 2018

Bluetooth technology is prominently used in which type of networks ?

(A) PAN (B) LAN

(C) VAN (D) MAN

w2 THE & TE B9 F 399 EE ww b ewd § s b 2
(A) ¥ By @

(©) @ ¥

Which software can translate scanned text into editable text 7
BT T AT R (R T R B OEUEA A7 IR ¥ amEifie @t mwar b7
(A) OCS (B) ORC
{E}"J OCR (D) ORS
Ui

What is the name given to melecular scale computer ?

(A) Supercomputer (B) Microcomputer
(C) Nanocomputer (D) Fermocomputer
RFFGTT el dugzy & 41 7 B & 7

(A) TR (B) srmvimgzy
@/ IHgET (D) Ty

4
47 ] H R |
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16 Select the figure showing the relation between lee, Water and gq1id.
f ah, o UF oA & A Y H we A suphy w1 W iy |

\
(A) B
- I
() O D (
s ®oo ,
L
17 In a certain code language, SUN is written as #8* and BEND is written as x@* &,
then DUNE would be writien in this language as :
s Fafve s §, SUN &) #5 ¢ frar e & a1 BEND & =@ * & T wmen & < 2
wr ¥ DUNE @1 foran s ¢ v é
(A) &+$@ M*@
(Cy *S$&@ (D} &S@*
18 A 4 cm side cube is coloured then cut into 1 cm cubes then the number of cubes with
no colour on any plane is -
4 5 e & UE wE W Tn A € oA 1l & uA # Fer wmen ¥ vw 0W AT @ e
Toveres fenelit off maw g i A b, ¥ -
(A) 4 (B) 8
(C) 16 Dy 27
0.009 x 0,036 x 0.016 x 0.08
= 0.002 x 0.0008 % 0.0002 'S cqual to -
0.009 x 0.036 % 0.016 x 0,08 Y sadva oy dol kot
0.002 x 0.0008 x 0.0007 ¥ ¥ - v b L 62he ¥ leaas
cedxopns " el
(A) 34 (B) 6 0:901X01036X0 018 k008
(C) 3.6 (D) 36 Cr082 ¥ 6.0008x0. 0
(1 1 -1] RASRF IR lam sy
] 1 U
fios 1__1 it ..,.[1__][1__] | )
S Y Y A ) 99)| “Tpp) ¢ caualto Sl AR
( (. 1) A=Ak
1] 1 1 n e s
l——||1—= I—m...+[t_ﬁl[1____ . I X Cx.
3L 4]k EJ 99 100 t
A — B L ;o
T B 75
1 5
LT ) Too

Ve i
7)Y 5
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11 If the statement 'most of the students are obedient' is

22

(A) Only (1)
(C) Both (1) and (II)

Frledr & TE . (D)

il

www.GkGyan.in

: _ taken to be true, which one
the following pair of

stalements can be claimed to be true ?
(1)  All obedient persons are students, ([1)

(1iI) Some students are not obedient, (

(A) (1) and (IT)
(C) (I1) and (111

All students are obedient,
IV} Some students are obedient.

(B) (II) and (IV)

(D) (I11) and (1V)
ﬂﬁﬁﬁwﬁﬁmwaﬁﬁﬁ*fmw-ﬂmﬁrﬁﬁﬁﬁ”a}ﬁ%ﬁmﬁﬁﬁ
W UE DA gHE W A g B

(D W st e, R 8 ¥ (1) @ R s g ¥ |
(1) T% Rt smemrariy 8 a3 2 (IV) 7= femdt amsmerft 3 & |
(A) (D) 3 (1) (B) (II) &4 (IV)

©) (D 3w (11 By (1) = (1v) ;

The missing term in the series 1, 4, 27, 16, 2, 36, 343, ... is -
*Ew L, 4, 27, 16, 2, 36, 343, . # TH TR E -

(A) 30 (B) 49

(C) 21

Jl);-f'lzs
The following question consists of a statement
and (I1). Choose

followed by two courses of action ([)
Statement

the appropriate course(s) of action from the given options -
The Central Bureau of Investigations (CBI) receives the

complaint of an officer taking bribe 1o do the duty he is supposed
ta do,

Courses of action : (1) : CBI should try to catch the officer red-handed and then
take a strict action against him.

(11} : CBI should wait for some more complaints about the
officer to be sure about the matter.

(B) Only (II)
(D) Either (1) or (11}

A2 2 T we A uwm wAn T Iuk A & wEEnE & @i (1) w1 R o kel
T faet ¥ F afrm seEnd w36 afer (@) 9fE -
wa

FEM e =g (CBI) B 06 STE 4 UF wd & fa froag
W I ST wTer BT f, W SWeE @ §

: CBI grtr siftprly @1 01 514 923 4 wifdng el anfen aap
% A1 THk faems w9 whad v g

CBIL % 27 faug 4 Mit9d 89 % g g0 afy formast &
STHTT BT W@y |

() -

Ay e (1) (B) = (1I)
EE:: (1) wan (1) Cal (D) (1) sy (1)
71y | 6 [ PT.O.
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| 24 A minture contains aleohol and watcer in the ratio 4 : 3, 1f § Jitres of water is added

to the mixture, the ratio becomes 4 : 5, then the quantity of alechol in the piven

mixture is -
-

(A) 10 litres (13) 9 litees b

k!

(C) 8 litres (D) 7 litres

um fogr & trpete aur ol 403 B e A B o 53 Paam i 5 faer o ol
foar W o W o 4 S W W & ) @ fry o e ¥ SEERS o A g

i
- = |
o (A 10 feex | (B) 9 fret 4 s o
(©) 8 fae | - (D) 7R 3%
- R U jgaed 2¢
Sz ) - i QB T B
:_I =4 J Et_-f.-'u_r:r;d -

25 In how many years will T 15,625 amounts Lo ¥ 17.576 at 4% p.a. compound interest?

f 3 &

(A) 2 years (B) 3 years e X r &jd
|'-. = lL{F- - o Il._f
L ; Ty 3

(C) 3% yoars (D) 4 years 2 -__—:_ RTT

fraa = | T 15625 =, 4o, wha af wmgra = J_ﬂﬁfﬁamqfl?.smﬁrmﬁrrr?

() 2 ji o sese AL

. ;
(cy 3= = oy 4 L8 s
2 ke - | it ‘_
P -] .-.'I: = i
pl E° 725"
: 1 how "AROUND"
26 IfCLOUD" is coded as 59432 and "RAIN" is coded as 1578 huwll ¢ E‘} R .':'4

is coded 7

ofs "CLOUD" 1 59432 § 32 fpar Tl & aftt o
7 TARGUND" ®i fs wa $2 fopn WA ? (1438 =

(B) 614832

R AIN® A 1678 B g2 e T

(A 614382
!
(13 614328

E
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27 Consider the given statements and conclusions and decide which of the cunclu:ainnm

1s/are true - 3
Statements  : Most of the Doctors are Engincers. None of the Engineers is 4
Pilot. All Pilots are Doctors. L
Conclusions @ (1) Some Engincers are Doctors,
(11} All Doctors are Pilots.
(III)  No Pilot is an Enginecrs.
\ {(IV)  Some Pilots are Engineers.
(A) Only (I} Conclusion is true.
(B) Only (”3 and (TII) Conclusion are true.
(C) Only (1) and {11} Conclusion arc true.
(D) (1), (1) and (IV) Conclusion are true.
ﬁqmﬂﬁﬁqﬁﬁﬁﬁﬂwﬁrﬂnﬂﬁﬁqwmﬁmﬂﬁﬁhmﬂﬁmm%‘ |
EESE:| : mﬂmﬁﬂgﬁﬂ,mﬁlﬁﬁﬂﬁﬁﬁﬂ%ﬁrmﬂﬁtlﬁ,
e et B | : “\
Fereeget f D 7 TE e, SR ¥ e I
(1)~ &t 2faey, wres £ | T
Mﬁéﬁrmﬁz.ﬁm#ﬁr%t Feed
(IV) ' =w ez, Sofifar & T
(A) Fawr (D Freed wmr 31 (StEal-
(B) %= (11) mem (111) e mveg & | e
A (1) w@en (1) fred o ¥ i\

1) (1), (1) srar (IV) Fraed wea & "

1 1
Kamal invested E of his sum of money at 6%, E at 5% and the remainder at the rate _

of 10% simple interest. If his annual income is T 234.5 then his sum of money is - |

. : |
maﬁmm; mﬁ%,?mﬁ%ama‘mm%mmﬁnﬂﬁ%ﬁmm

O A T T 234.5 ¥, o e w & - teoxy  zeX
(B) T3200 -ev! .,

T 3300 (D) T 3750 W

29  The difference between simple interest and compound interest on a sum of g MOoney |
L]

at 4% rate of interest per annum for 2 years is T 40 then the sum 15 -

o et AT W 4% Tt s Y er § 2 o9 mmmﬁﬁﬂm?w
2 &7 9% ' Tk - L2
(A) T 20,000 ) T 25,000
o) 728,000 (D) T 31,000 _
vy Ll i . "'-f_ 3 :
" {'3p 17 50% of (x=¥)=30% of (x+y), then what percent of x is y? o &
q&{x—y]iﬁlﬁ['%’: (x4 ) &1 30%, & v, x = Pren Wi B 7 e
‘ 20% VIR (B) 2% L
(Ef 0% 5L (D) 50% K. . Y
( JI i " ':ll!::il \J . '-'.-'r:- &
r'.- s o o n.,.! F :_'..i l]_‘l AL
4?] -5‘ | ?':{rll-_l 3 ‘T -': LY i ;:I‘:-. w-}'

— AW R L e ee— -
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i;l Fill in the blank with one of the correct options given below ° -
They :

L8 L

him yesterday,

(AY have seen

(C) seen

P 'q.il'" 15
(B} would see < "
| J’]})/s-aw

To form a new word the prefix "a-" can be added to which one of the following:
(A) true

(C) bed

(B) care
1 E}f'fie

Change the following sentence 1o the interrogative form — B

_ 5o

A wise man-is honoured everywhere. T e % 4
—

{AY Where is a wise man honoured ?

s _ _ g5 .

{B) Where ever is a wise man honoured ? 4

{C) Where 15 a wise man not honoured ?

A
foeke pmpa = ae

(D) Where isn't a wise man honoured 7

34

Insert 'a", 'an' or 'the' in the blanks in the following senience from the oplions :
man whom | spoke to is

(A} T]‘le, the

(C)~ " The, a

citizen of New York .
(B) A, a S 23
(D) A, the

35 The most apt translation of the following sentence in English will be
Tl F AT A9 W 2 s
Cntions + )
(A) Make haste otherwise you will be late.

(3] Make haste il vou do not want o pet late. E R |

(C)
(1)

71 Y

If vou make haste then only you will be on lime. o -

If vou do not make haste, you will be late. £

G
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36 Choose the correct negative form (without change of meaning) of the fnlluwm,‘
sentence from the options given below : F

She is sometimes clever,

(A) She is sometime not clever, (B) She is not sometime clever.
Jp‘f ‘She is not always stupid. (D) She is never clever.

37  Choose the ELHE:E:E preposition from the options below and fill in the blank :
The rule 15 applicable evervone,
{A) to (B) in

(C) on L(B)'/Ihr

38 Choose the correct answer from the tollowing options determining whether subject |
agrees in number with the verb :

(A) Just around the corner is a fantastic bakery and a small supermarket,

(B) Afier all the gardening we did, the sun shining on the flowerbeds make a -
heautiful sight,

. (€) Jack, along with some of his closest friends, is sharing a car 1o attend a w edding.

LS

(D) There is, according to my doctor, many courses of trcatment available to me. |

3% Convert the following sentence into active voice from the oplions given below :

I have been invited 10 the party.

(A) None has invited me to the party.

(B} Everyone had invites me to the party, |
(L) Lum:.une had invited me lo the party,

(D) - ‘umueun&: has invited me to the party.

T e e ——

40 Converl the following sentence into direct specch from the oplions (hay follow
She asked if | would come with her,

(A) Ahe asked that, "Will you come with me.”
( She said, "Will vou come with me 7 _
(C) She requested, "Will T come with her 9 F
(D) She said, "Will 1 come with her

11} ix
! 71y | RT.O.
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41

Which of following tourist attraction centre is not situated in Karauli district ?
(A) Timangarh fort (B) Mandrayal fort
(C) Ramathra fort (D} Naharsagar kund
Rrsfefiad 3 § S T whe Fw wow faw f Ruw e E
(A) fomrme 7 (B) g 31
(€) wwera g (D) T F7E |
42

"Limbaram' is famous name ol which of the following leld ?
(A) Painting (B) Singing

(C) Sports (D) Dance
Pt & & & ‘Trarow wioa W el g€l 7
t (A ﬁ?’ﬁrﬁ (B) A
(C)~ &= (D) T4
.'r_.ll'
43 Which famous Goddess of Rajasthan is associated with Rats ?
? (A) Shila Mata (B) Karni Mata
(C) Magnechiya Mata (D) Sheetla Mata
4 ﬂmﬂﬁﬁﬂﬁﬁﬁmﬁﬁﬁﬁ?ﬂﬁﬂqﬁ%%?
(A) s e W Tl
() FTTErEEr = (D) sfraem =R
44 Which of the following is written by Poct Kaviraj Shyamaldas 7
(A) Vir Vinod (B} Vansh-Bhaskar
(C) Prithvi Raj Raso (D) Allhakhand
5 ¥
Wwﬂmﬁﬁﬂ:mmﬁﬁﬂﬁ@?ﬁﬂﬁt -
(A) @ fs (B) TRt
(C) garra Tl (D) #wTas
45 Which of the following is a prominent civilization of the Copper - Age of Rajasthan 7
) (A} Ahar i (B) Kalibanga
} L (D) Dagorc
(C)  Bairath i 3
Fer 4§ TraeE & HE = iRkl | woE W PG
(BT el
(A) TES ;
(€) e (D) W
i [PT.0.
0. 711 Y
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46  "Ganeshwar" is located in which district of Rajasthan ?

(A) Ganganagar | (B) Bhilwara .

(C) Bharatpur (D) Sikar

Todr % 60 fast F miyar ww fem ¥

(A) g (B) e

{"__" T o

(C) ey i (D) drx
47 Near which river was ‘Bagore' civilization located 7

(A) Kothari river (B) Luni river

(C) Banas river (D) None of the above

MY, Bewa fmw T % fert o7 iy o 7
% (AY Frerd (B) w8

(C) T mw & (D) 3% & &1 w14

48 "Bairath" was the capital of which Janapad in ancient India ?

(A) Matsya (B) Panchala

(C) Chedi () Arjunay
syl WA & e W @ o 6 ?

LAY A (B) gy
(©) ¥ (D) s

49  In which month is the festival of Teej celebrated ?

(A) Shraavana {B) Chaitra
(C) Vaisakha (D} Magha
ﬂﬂﬁ_qﬁﬁﬁﬁmmm‘mmmt ?
(A) 7T (B) #=

C) Aw (D) =mg

50 Dhaulagarh Devi Mela is associated with which district of Rajasthan ?

(A} Jodhpur (B) Alwar
(C) Jaipur (D} Ajmer
(A) =EqY o
(C) vy " TR
—_ 12 [ PT.O.



2T

32

- 53

34

47 H 13 e

www.GkGyan.in

Which one of the following clothes is a symbol of prestige. in Rajasthan ?
ol (B) Ackkan

'[C“:: Pagri (D) Angochha

fre & B T T ¥ sl @ g e e §

(A) HET

. (B) aEsA
(Cy EUE

(D) T | |

Who was the architect of Kumbhalgarh fort ?

(A) At (B) Kumbha
(C) Mandan (D) Naresh
graeg g0 & fell & @

(A) fﬁi (B) F=0
E)’W (D) =i

Which place in Rajasthan is famous for the jewellery of Tarkashi 7

(A) Nathdwara (B) Chittorgarh

(C) Barmer () Udaipur
mﬁﬁmﬁfﬂﬁwmﬁmﬂmﬁmt? ;
() 1) fodEm

(C) =TFHT (D) Tt

Depiction of hunting scencs became a hallmark of Kot school of painting from the
time of which ruler of Kota ?

(A) Rao Madho Singh (3) Raja Umed Singh ‘
(C) Raja Ram Singh (D) Maharad Bheem Singh
e & mﬁmﬁﬁﬁﬁmfﬁﬂiﬁmﬁmﬁﬁﬁ ?
(A) T A (B) T T R

(cy T T T () wera e

Who wrote "Rajvilas” ?

(A) Kavi Maan

(C) Suryamalla Mishran
gt T frary fordt 1
(A) T T

(C) HEmw A

{13y Hem Kavi
(1 Shyamal 15

(13 ¥ &
A it
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Which famous Maand Singer was awarded Padamashri in 1982 for contribution iy 61
ficld of Art 7 ' g {

(A) Allah Jilai Baj (B) Gavari Bai
(€} Usha Chauhan (D) Mangi Rai

e ﬁgmﬁm#éﬁ#zﬂiﬁwﬁamwszﬁmﬁ#wﬁaﬁmwﬁ

(O e frnd and (B) ey ard

(C) @ ey (D) =i arg

Which one of the following folk dance is not performed on the oceasion of Halj ¢ v
(A) Gair (B) Neja

(C) Chang (D) Panihari
fﬁnﬁﬂﬂﬁmﬁzﬁaﬂ%ﬁ!w#ﬁmw 7

(A) T (I

(C) = (L) oftrrd

Which one of the lollowing is wrongly matched 63
(A} Pabuji - Kaly (B} Tejaji - Kharnal

(€} Mallinathji - Gagron (D) Ramdevji - Ramdevrs

B A Y T g 7

(A) &t - o (1) dordl — e

() ettt — i (D) Tt - oy

Which historical heritage site of Rajasthan has not been included in the UNESCOs |
World Ileritage list 7 &

(A} Fort of Chittor (8} Jantar Mantar Observatory :
(C) llavelis of Amer (D) Kumbhalgarh for i

mﬁﬁﬁﬁmuﬂﬂaﬂaﬁmﬁaﬁwﬁﬁhqﬂﬂ:ﬁaaﬁmmt?
(A) faeiiz &1 fen (B) st way Feagm
{Q/cmfh 1 Fafarat (D) FoTG @1 fiwery

Two mouthed Chulha and Sithatta with large variety of pots and pans were found in - | 65

which of the following sites during excavation 7

(A) Ahar (I3) Kalibanga

(C) Bagore (L) Gancshwar

ﬁﬁgﬂ@ﬂﬂﬁmﬁﬂ#ﬁ%mﬂmﬂﬁ%ﬁﬁﬁﬂmﬁﬁ

if fit & 7

(A) HEF (B} e

(©) PILIEA (D) Ty 47 ]
14 [PT.C

b’ " gr—

s _'I 1y .
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i

on in t}{ -..“ Th:. cenotaphs of Mewar Ruler Rana Amar Singh and Karan Singh are Jocated at :
00 o 8 e
l . - m'ﬁ? T' | (D) None of the above
P TR ﬁl (&) ﬂ;T@Lgﬂ @mm#ﬁﬁmmjm%_
| ! () /s (7750
(C) ~erart (S5g) D) g & o 7 .
T
of Hol; * 62 Which of the following was authored by Virbhaan 7
_ (A} Vansh Bhaskar . (B) Abhayuday
(Cy Suraj Prakash (D) Raj Roopak
Fretfufian  fem omas doad @ 7
(A) T WEEL (B) =9y
(€) gt v (D) TF W
&3 ‘Which place is associated with famous Thewa Art' 7
(A) Bikaner (B) Jaipur
(C) Barmer (1) Pratapgarh
mm'ﬁmm'wmammﬁﬁi 7
(A) HrEFT (13) =gl
(C) ==t P e
JNESCO's 64 Who was the founder of the "Bishnoi' séct s
(A) Dhannaji (13) Jambhaoji
(C) Krishnadas Payhan () Ramcharanji
R G Fyseitd e % g9es HE 4 7 /
(A) G B el
() FomEE SR (D) T
re found in 65 Sir V. 1. Krishnamachari Was the Diwan of which State ?
(A} Mewar (13) ,1nuflhpur
() Jaipur (13) Jaisalmer
Tt &, & memmﬂﬂ*ﬂﬁm“ !
s (A) T i
- (1) S |
8 15 [ B.T.0.
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Which of the following combination is wrong ?
(A) Tiggywinkles wildlife Sanctuary — UK |
(B) Koala wildlife Sancluary - Ausiralis .
(C) Boon Lot's Elepiant Sanctuary — Thailand
(D} Sanwild wildlife sancluary - US.A.
Feifdd & & e wye e b

(A) f?“?rfeiwiamrﬁa W - TEdE B
(B) ®hener a5ty arvarog - i

(C) T3 wem it FHARTY — uds

(D) ﬁﬂaﬁﬁﬂaﬁamwm—@ﬁmmﬁﬁm

L ; JFIT I .
Pea Soup Fog' s especially related to which city ?

(A) New York

: 3) DBeiji
S Tohye D) Lonte

T ERT qem: B ot @ AT &7

(A) = (B} =i

(C) =i (D) =

Tiﬂil_nf the following is not situated on the coastal region of Gujarat 7
[ } b:lr {:.:rf:f.‘k [_HJ Ktll‘i [:fl."l._'k

(€ ‘-'-rﬂ'flfﬂ. Creek (I3} Kalamb Creck

el ¥ & W [AE & ad i v few a3

(A) wT o (B) = Zw

I low many districts in Rajasthan are having sex-ratio below the I ——
(State average sex-ratio is 928.) © slale average in 2011 7
AT 2011 F 11 & o feteaw @ v R ved 1@ e B 87 (e
e formaE 928 )

(A) 12 (1) 13

(C) 1a (D) 15

Which of the following structure is northern most on the map of India 2
(A) Malwa plateau (I3) Ajanta range
(C) Vindhya range (D) Satpura range
ﬁqﬁqﬁqﬁﬁﬁrﬁﬁmmmﬁﬁaﬂﬂﬂﬂﬁmﬁ%?

3}

i [ ETO.




1 In which o y r

t ne of the following states N '

t (A} Arunachal Pradesh mRe etk Codl T I Jemec 2
t (C) Manipur il;] el

. Mizoram

Friifr el # & T
(A) STEITE WA o= e @ o 7

(e (D) foefem
.|I !

72  Which of the ; 1
of the following part of globe is habitat of most of the population of Penguins ?

(A) Fastern islands near Japan (B) Western islands near E

(C) Morthern Polar region (D} Southern Polar region -
Frefafiaa ﬁﬁa%ﬂmﬁmﬁﬁhﬂﬂaﬁmﬂ&rmﬁnmﬁﬂmt?
(A) = % urE e i (B) i & ur o A |
(C) wwil ga & (D) =il T 6

73 The theme of World Ernvironment Day - 2018 was =

(A) Stop Deforestation (3) Conserve Mangrove forest
(Cy DBeat Plastic Pollution (D) Save ozone save world
faya watato fEEH _ 2018  wEw (d4) i -

t_ma:fﬁﬁ‘—rmi‘raﬁ () e = w FE

1C) ez WAV H AR B Wﬂaﬂﬁﬁaﬂmﬁ

24  Which of the following is associated with Acid rain ?
() pH of rain water below 3.0 (13) pll of rain water between 5.7 10 bY

Ly (C) pll of rain walcr 7 (D) pil ot rain water above 7
ot 9 H fpam ad iy A g Rt
(A) =TS %1 pl! 5.6 9w (13) E{ﬂiﬁﬁ'ﬁ’p“ﬁﬂﬂﬁ.ﬁ#ﬂm

M}iqﬁmﬁ ol 7 (D) aﬂiﬁrﬁrpmﬁaﬁw

T k]

2018 is related 10
(13) Roads and Transportation

r Forecast (1) PPoverty alleviation

75 CSAFAR jyunched in yeul
(A) Ralway [ sy ations
() Adr Quality andd Weathe

af 2018 A wier mat EET i -

(AY tEd CrAa s
(C) =g e e Ll Al (17) 5 Gl
(PTO.

AT | }j’
..—-'-'-F....,-p-—-"'!_""'.""n_-n-:
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76 "Palana’ is known for the mining of :
(A) Coal (B) Gold |
: LA
(C) Silver (D} Copper
A o T & fag e e
(A) (B) wn
AL) Fl’ﬁ’! (D) =i
4 \I
77 In which distriel of Rajasthan Tapukada industrial arca is located ?
(A) Jaipur (B) Dausa
(C) Ajmer (D) Alwar
Wﬁﬁ?ﬁﬁlﬁﬁ%ﬁﬂﬁﬁﬁﬁﬂ?ﬁﬂﬁ%?
(A) smgT (B) &
78  In which district of Rajasthan Leelwani mine is located 7
(A) Jaipur (B) Banswara
(C)  Dungarpur (D) Udaipur
THEA & e o & Fiard @ feg & 7
(A) 7O (B) =g
(C) Fmge (D) g
79 In which district of Rajasthan the 'Akal Wood Fossil Park' 18 situated ?
(A) Udaipur (B) Sirphi
(C) Jaisalmer (D) Bikaner
A & e Tl o ‘aree g8 wiftm e fam &7
(A) =YL (B fa
(C) et (D) 4T
80 Bailadila mine is rclated with
(A) Copper (B) DBauxile
(C) lIron ore (13 Gypsum
AT W FEraT ¥
(A} T (I3) =r=FREe
D) foey
(C) g U (LX)
I8 [ BTA

47 | tf
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|81  COP-24 was organised in whi
hich of the followi
l, (A) Australia B) I’;T; znuntry?
C) Franc
fL o (D) Brazil
OP-24 @ e e % & fab 2o & gan?
o (B) drivs
(©) wm B

82 'Manas' 1s famous wildlife region of the state of :

(A) Assam (B)  Arunachal Pradesh
(C) Meghalaya (D) Manipur

mE T waE aweE i e T d e ¥ 9 b

(A) FEH (B) arsvmEs wR
(C) wam (1) =forge

83 Mangla area of oil field is located in the state of :
(A) Gujarat (B) Rajasthan
(C) Assam (D) Tripura
ﬁﬂﬁ%ﬁ%ﬁ'ﬁﬂﬁﬁﬁﬂﬂt.ﬂ!%: o
(A) THE By T
(C) o (D) Fga

84 Which of the following animal's breeds are Chokala, Magra and Naali ?

(A) Goat (B) Sheep

(C) Cow (D) Buffalo
ﬁrqﬁﬂf@?!ff#rﬁﬁrqﬁﬁﬂﬁgﬁﬁﬁﬁm- “"lﬂﬁ%?
(A) @R }B’l i

©) T (D) H4

is not correctly matched 7
U.S.A. (B) Pyrenecs mountain — France
(13) Tsinling mountain — China

85 Which one of the following
(A) Applachian mountain —1
: i — Brazi
(C) Ural mountain ;
ﬁﬁﬁﬁﬁﬁﬁﬂﬁﬂmﬁﬁﬁgﬁﬁﬂﬁ%. S

(A) W@Fﬁmﬁqﬁﬂ=ﬁgﬁ‘{ﬂmﬂfﬁﬂ (1 7w —

- a;nﬁqﬂﬁ— ) (1) G wdg - d

11 g

- | L.

I i T = ._I' : o .“_ i ik, A £ 9

T it o1
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86 ‘e = Tl Wi ey gy _

(A) M+ (B) = + guuy
()T + T (D) it + ey
87 =va @t ww g o7 v & o
(A) =i g7 \ frar o
(C) ®fgr | (D) %y 9y
{
88 ﬁw&%ﬁ#ﬁmﬁﬁm'mw%~
(A) &
- (B) =1
(Y (D) &=
89 ‘mﬁw'sﬁiﬁﬂﬁmmmﬁ%?
(A) & o (B) 72 aygs
(C) 7g oot (D)~ ot
90 'fém%frmﬂr ﬁmﬁ%'ﬂﬁm%maﬁamw%?
(A) i = =1 (B) st vt 47 vy
(CY ¥ e (D) 9t 1wy werey
91 ﬁﬂﬁiﬁﬁﬁﬁﬂm—mf&a}q—mﬂﬁﬁﬁt?
(A) Wik — ot (B) ®mEt — sy
Mm—a@a (D) ®| - w29

92 Freiafas & @ few e § @i e "W % aleE ¥ 2
(A) wura, ek, TEm, g AB)TEE, u, wie Temsr
(C) wam, s, o, gt (D) ey, wr, R ag

93 T s wEn F e 0 si-aF gw b
w9 ¥ R wm # oeugis b2
(A} wazs o4 (B) wdmr ey

(C) war wash O s v sk
94  ‘“Trugr w5 dam T

ST Aty & fog ad oo § -

(A) Fregs (B) wig

(C) it W

95 "Whisper" sirsft g & fﬁl? R =t -
(A) AT (B) =y
@ﬂﬁ (D) =agdt

20
0.
471 5 | [PTO.
e T T R T T O e S S P Sa—— —
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The concept of Public Interest Litigation (PIL) was originated from -

- (A) The United States (B) Japan

. (C) France (D} England

| Al T @ ST o wrey Ree 3w E gen ¢
(A) gt T

(B) W=
C) =H

(D) Fwms
The annual report of the Comptroller and Auditor-General of India is scrutinised in
detan] by the -
(A) Public Accounts Committee
(B) Estimates Committee
(C) Consultative Committee of the Finance Ministry
(D) Select Committee on Expenditure

mﬁmammﬁmwﬁﬁﬁmﬁﬁnﬁﬁﬂﬁmﬁmﬁﬁmﬁ%—
(A) W T wiEhT

(B) WierBe
(CY Pt e A womew WA
(D) =5q ¥ wdu & wat wf

97

E-

g8 Under which Article of the Constitution of [ndia, the Governor can reserve a Bill for
the consideration of the President ?

1 icle 200

A) Article 169 (B) Articl

EC} Article 201 (D) Article 257 o 4
arrdr wiaae & %mﬁmnmarrquﬁl%ﬁmri‘ﬁm faiam
ST Ta wEA © ¢ o

(A) R 169 !E[B}f; ik i

(C) s 201

9 which of the following schedule of the Constitution containg provisions regarding
9 hic : o
Anti-defection ?
(A) First schedule
(Cy Tenth schedule .
shar B fa g § T et

{H}I geventh schedule
(13) Eighth schedule
qraar] wmE k7!

() Tl
(A) w95 Al (D) e e
¢ ) l b - . i o - “ '
- d Delivery of Public Service Act" came into force from
100 "Rajasthan Guaranted
which date ? (B) 31 October, 2011
(A) 14 November, 2011 (py 2 October, 2011

, 2011 - fen T 7
e RNV
i::: 21 =, 2011

471
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In which of the following case i was said that The Preamble is not a part of,,
Constitution ? t \¢
(A) Df.:l!‘i.thﬂ.l"i Cals'-r: 1 (B) Bommai Case
(€) Minerva Mills Case | (D) Golaknath Case
Wﬁanﬁﬁmmqmmwmhmunﬁm#ﬁmmmﬁ?
(A) Feamd) o (B) &% amg |
(C) ﬁmf fheg =g (D) Wy am
The very first fjve year plan of India was based on the model of :
(A) Bombay Plan (B) Harrod Domar Model 0
(C)  Mahalanobis Mode] (D) Manne and Rudra Model
‘ﬁf?ﬁqﬂﬁﬁ'ﬁﬂm%ﬂfﬁﬁﬂﬁﬁmﬁﬁ?ﬁ ?
{A}fm%ﬁmu (B) ¥v= sty aiza
15)- HEEAIE wigw (D) == &t w31 oi=a
Which of the following statements are correet about the Central Vigilance Commiss
(1) It was set up on the recommendation of the Santhanam Committee,
(2) Itisa non-statutory body.
(3) Itisa multi-members commission,
(4) It exercise superintendence over the working of the CBI. ol
Select the correct answer from the codes given below :
(A) Only (1), (3) and (4) (B) Only (2), (3) and (4
(C) (1) (2) and (3) (D) (1), (2. (3) and {4;1}
ﬁ#ﬁﬁmﬁﬁaﬁqﬁmméﬁmwﬁ&ﬂw%aﬁﬂmﬁ 4
(1) maﬁumﬁwahﬁﬁrhmﬁ;rﬂﬁnéﬁr |
(2) =% um darfs frem i &
(3) = oriw w=ell @ w aram B
(4) wﬁzmwm{cm}ﬁmmnﬁwm%w 2
e ﬁﬁir;q P2 W T ST & a4 &7 -
(A) (1) (3) &7 (4) (B) &= (2), (3 :
(C} (1), (2) afz (3) (D) (1), (2), {3}1‘@#{{{3} |
The original Indian Constitution was handwritten by -
(A) Nand Lal Bose (B) Beoh:
(C) Prem Behari Narain Raizada (D) ‘u'a_:jar[rli?:]:?ﬂr{?]?m Sinha
T WA wfaur e gro et & 7 e |
(A) =2 7o 9 \B) = e, g i
(C) 9 Ferdt Armaw Ty iﬂjmmﬁ% !
\;pm}ch one of the following is not in a calegory of T i |
(A) Ancillary Motion (1) t;%iniﬁhﬁﬁ i A
(C) Amendment (D) Substityte Mmjunm !
ﬁqﬁ;ﬁgﬁﬁﬂﬁﬁmmmmﬂﬁﬂ“ﬁﬂ?ﬁma? |
(A) e w o), T e |
(C) Hana [Pf ®F= weng | 411
) II
¥ : B
Tt
;- *““{"Wh‘-‘w—___ B i L
e oy TR A £
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i (06 Who invited Gandhiji to lead the peasants of Cham 9

R

107 Which country was known as the 'Sick Man of Europe' 7
| (A) Austria (B) Prussia
L |5 Tekey (D) Poland l
Py Rar @ g @ o A e o 7
l'l"tis._v,i.;,{ (A) GI'IﬁTg.’TIT {E] R
© = (D) e
108 Who was the founder of 'The Indian Association’ 7
(A) Surendra Nath Banerjie (B) M. G Ranade
(C) Dadabhai Noroji (D) Gopal Krishan Gokhle
fy efems URITGEEA @ HwoE S a1 7
(A) HrZyg au (B) ww. @ TR
(C) =TraTs AU (D) e Fwr Wi
109 Madras was restored to the English by the French through the treaty of :
(A) Aix-La-Chapelle, 1749 (B) Pondicherry, 1734
(C) Salbai, 1782 (D) Manglore, 1794
ST & HRE mﬂ*ﬁaﬁgﬁ:ﬁmﬁmﬂmﬁﬂﬁﬁiﬁmﬂ:
(A) Tg-wi-dte, 1749 (B) wmErrll, 1754
(C) ww=R, 1782 (D) #, 1794
110 In which one of the following Mughal building was 'Pietra Dura used for the [irst
:I: : :ﬂuhlnd Darwaja (B} Humayun's Mausoleum
() limadud-daulah's Mamulc.um {D.] Panch Mahal
hﬂﬁﬁﬁ_ﬁ{{wmﬂﬁ = & ﬁrm.mmuu’wh:‘mw ?
(A) TA= BTl [13) EI""“L i HEET]
(C) g & HEA (1)) da =Ed
471 23 + | BT
| I'."[-[‘r. L ____,..,-“i——r"l'""f,"'«""" e wﬂﬂ""’-’-""""‘wﬂ " st _......-..;,_.Je

107

(A) Rajendra Prasad (B) Rajkumar Shukla
(C) Brij Kishore Prasad Singh (D) Bindeshwari Prasad
AN F T # T 0 5 R el 5t feey et e
(A) T v - (B) T g

(C) wa faait wom fiix (D) fRyEi vEm
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1 Who was Maharaja of Jodhpur at the time of the revolt of 1857 ?

(A) Maharaja Takhat Singh (B) Maharaja Ram Singh

(C) Maharaja Ajit Singh (D) Maharaja Jaswant Singh

lsSTﬁ;Fa:‘maawﬁﬂugraawﬂwﬂ ?

(A) wermm qe fife (B) =ororar 1t fifz

({:)waﬁmfﬂx- (D} =emren sy firg
112 Who among {he following was the founder of Niranjani sect ?

(A) Saint Niranjan Nath (B) Saint Ramdas

(C) Saint Ramcharan (D) Saint Haridas

8@ e TR % Higs & 7
(A) & frism g (B) ¥ vt
(C) w7 ey (D) Ha efam

113 Which of following timeline

could be related g Kalibangan civilization ?
(A) 2500 BC 15 1500 BC

(B} 6000 BC 10 4500 BC

(€) 1500 BC to 500 ge (D) 2500 AD 10 1500 AD
Frefafaa & & g3mr FIE FEE @ W e £ 7

(A) 2500 49 & 1500 iy B) 6000 9. & 4500 5.
(C) 1500 € @ 500 39, (D) 2500 ¢ 3 1500 ¢,

114 Which ruler of Jaipur constantly served 3 Mughal emperors -
Jahangir, Shah Jahan and Aurangzeb 7 _
(A) Sawai Jaj Singh (B) Raja Man Singh
(C) Mirza Raja Jaj Singh (D) Sawai Madhe Singh |
mmﬂwamﬁﬁaﬂﬁm&ﬂs;ﬂﬁhwﬁﬁﬂhaﬁﬁaﬁﬁm#m ’

115 Through which Newspaper did Vijay Singh

: Pathik popularise Bijolian Peasan; |
Movement in Indig 2

(A) Pratap {(B) Dainik Navjyoti
(C) Lok Vani N (D) Prabhat
feer TATETT T & A1 A T fifg i 3 Fersttferart R ariier 1
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16 Who among the following was related to The Murder of Mr. Rand at Poona ?
(A) Bhagat Singh (B) Bal Ganpadhar Tilak
(C) Chapekar Brothers (D) V. D, Savarkar
Freafeited ¥ A Frgw wiw o ¥ B Y B e @ a2

(A) w7 e (B) & e fes
(©) w4y DY A & waw

i
117 In San Fransisco conference, UN Charter was signed by members,

1 Wit v ¥, e udt W wEEl 7 wEEt g
(A) 51 (B) 42
(C) 35 (D) 193

118 In which Article of United Nations Charter, membership is mentioned ?

TYF T WY ¥ urt & few s F o & fis b7 g
(A) 4 (B) 5 x5
(C) 6 (DY 7 Tl

119 The Congress session of 1889 at Bombay was also attended by women, who amongst
the following did not attend it ?

{A) Pandita Rama Bai (B} Sarla Devi Chaudharani

(C) Swarn Kumari Ghosal (D) Ramabai Ranade

1889 ﬁaﬁﬁmﬁqﬁ%ﬁﬁmﬂ%ﬁwﬁm,ﬁmﬁﬁmm
3 zad T R form 7 Y -
(A) afezer o AT (B) &t & i =%
() P qufﬁ T (D) THAET T T

120 Who among the following participated in the world Parliament of Religion organised
'ho

in Chicago in 1893 7
(A) Raja Ram Mohan Roy
(C) Dayanand Saraswali

(B) Swami Vivekanand
(D) Ram Krishna Paramhansa
Fg o waE P & @ Be e fan?

Ry & 1893 F S e , ey
(A) T T AEd x{m — A
(C) =arE wrE { ¢ :

25 [PT.O.

a7 Y

] =

-

-B

-
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121 The effect of increase in repo rate is —
(A) Decrease in liguidity with commercial barks
(B) Increase in liquidity with commercial banks
(C) Ma eilect on liquidity of commercial banks

L (D} Inerease in povt. expenditure and tax

’ frdr =7 & gfg & W= W -

(A) =riinfres sl o ome averan o w4

@Y i 45 % ar A ThE

(C) =i ¥f &1 qoem o 3 warg

(D) Hewrdt e o W #

122 Who is known as the father of national jncome accounting ?
(A) Simon Kuzncts (B) Richard Stone
(C) L R. Hicks (D) J. M. Keynes
ST T FEiHA W ww R w1 e & 7
(A) |EFA Faize (By.,fred =11
(C) = o, feam (DY ®. TH, W

123 In budget, the revenue deficit is —

(A) Total receipts > Total expenditures
(B) Capital expenditure > Capital and revenue receipts
(C) Revenue expenditure > Revenue receipts
(D) Revenue expenditure = Revenue receipts
e o e g wa § o
(A) Fm wifeat > e =9
(B) o =@ > o o UeE Wi

Gy Traem = = e Wit

N i
(D) =g =4 = T Whadl

124 Which is mot correct about Rajasthan Refinery Lid, Fachpadm‘ Batvier

(A) It is first of its kind in India which is integrated wigy Btk .r : @

(B) lts projected cost is T 43,129 crore. emical compi¢

(C) It is joint venture of HPCL and Govt. of India.

() Sharc ol HPCL is 74%.

Wﬁmﬂ'ﬁﬁ'{, wEy, AT & A wr udt g
{Hﬁqﬁﬁ:ﬂﬂlﬁ?ﬁ-ﬂ,li‘?ﬁfﬁ_‘ﬁﬁ% | S |

(B) 7 ra O EE, qar ST R WG gy |

Eygﬁ’ @Iﬁﬁmﬂ 7 e 74% ¥ |
| A
26

0
71y (et .?

R e I e

=
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25 What is share of India's cxport of guar in world's total guar export 7

& = & oo Profa W wmg & e & Frata ® fewm feq & 7
(A) 90% (B) 80%
(C)  55.8% (D <10%

pg—-
=4l

What is the share of service scctor in India’s gross value added in year 2017-18 2

T4 2007-18 ¥ witd F www genw § @ 6 @ feen fmam ¥ 7
(A) 25% (3) 35% |

,
L (1)) 55.2% ¢
27

Main theme of first human development report of Rajasthan (2002) was
(A) Inclusive growth

(B) Poverty alleviation

(C)  Inclusive growth with sustainable development

(D) Promoting sustainable livelihoods in an era of globalization
TERAE % e g faww wiede (2002) W ge fusg e

(AY wemash faem

(B) TET S

(C) waa TumE ¥ Wy gl 3

(D) Hydistm & go § wd) TS T TETET 54T

128 Full convertibility of Indian rupee in current accounl of balance of payments ook

lace 1n :
;?Jﬂgaﬂ#uﬂmﬂﬁwﬁﬂmﬂﬁrm@mﬁqﬁﬂﬁMﬂw?
A) 1994 (13) 1998

E;c; 1999 (13) 2002

| i 4% organised in the year ol
129 The Global Rajasthan Agritech Meel (€ rRhal';I} wWas g{;ﬂ i
. e o gy ToEd TR apiire Bt I:“.Il'[l'-':il} Eﬂmﬁlﬁ'ﬂ'ﬁ 3
ii; Egi; (13 2016
; i EK art & an Pension 7
130 Whao are eligible for Mukhya Mantri Ekal H.:‘u amina
(A) widow, divorced and Parityaklya wome
(13)  Unemployed single woman
Sy Hliterate single wnnmrunn
cried single wom ;
. 1::;12;51 vy FpeE T & T m"ﬁ o ¥
Ay et LR S
(A) FauE, Eravﬁa;m?rﬁ
TR T(B) ﬁﬂaﬂmqﬁﬂ
(o) it T Sy
(1)) wfeenfed T

mpleX-

. L .
ety o e
: et

ok

'Ihu_l'-u -lH.-"!ﬁ'IqL_*i-_'ﬂ‘F"" -
- 1




131 The rotation of carth about i:\NAA/WgG kGyan |n

(A} North to South (B) South to North
(C) East to West (D) West to Fast
Tl W WA e & W g g k-
(A) 9T & afw (B) =i ¥ Tew
) qF H afiEm (D) offaw & o
| !

132 The outer surface of the tyres of vehicles is made corrugated :

(A) to increase friction (B) to decrease friction

(C) to make the tyres attractive (D) to increase the strength of tyres

aﬁtmﬁwmmmaﬁ%:

(A) =iw w5 g B) i e iy
(C) 2T & smds 7= i (D) =l =t o%a @9 ¥g
133 Preservative used in tomato sauce is -
(A)  Potassium metabisulphate (3) Potassium nitrate
(C) Calcium propionate (D) Sodium benzoate
eHIET ®iF ¥ warT ¥ @ arer g {prescrvative) 3 —
(A) wiefomm dzmEmas () Gifirmy amee
(C) W virhair (DY Wfsem iz
134 Natural colourant present in turmeric is -
(A) Curcumin (B} Carotene
(C) Lycopene (13) Anthocyanin
Fel § g WA A WeE tew § -
(A) gt (BY &fes
‘{9. e (D) weamhe
135 Acid-basc balance in the body is maintained by -
(A} Liver (B) Kidneys
(C) Pancreas ] (D) Spleen
e v B) T |
\{,5\’) S AT (D) Foedt & |
t:l::l I E i & |
| 28 [ P.Tﬂ'_é
47| b, :
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Vitamin B, contains which metal 7
i B, ¥ @ M ag e & 7
(A) Pb

©) Te (B) Zn

(D) Co

Nylon threads are made of -
(A) Polymethylene polymer

(B) Polyvinyl polymer
(C) Polyester polymer

(D) Polyamide polymer

A M A e - :
(A) wrffEie a5 3 (B) e a5hE §
(C) At g & ‘(D) Widiams w5E @

Which of the following is a physical change 7
(A) buming of a Magnesium (Mg) wire in air
(13) glowing of a Platinum (Pt) wire when heated
(C) electrolysis of acidulated water

(D) passing carbon dioxide through lime water
Frafefiaa & # &= w1 ifvs ofEda § ¢

(A) =g # F=fims (Mg) & @7 &1 Jm

(B) ™ & av s (PO a7 & 9w

(C) arsiiga or & o7 amges

(D) A SEAEEEE & 9 & T A T

In the following chemical reaction -

FepOs¢5) + Jﬂﬂtm —— 2Fepgy + 3002

(A) CO is an oxidising agent (B) CO is a reducing agent
(C) CO 1s neutral (1) CO acts as catalyst
Frfiafiea Tamofrs afefem & -

FeaO3(e) + 30 — 2Fes) = 3C02(p)

O amFdETE WTEETE & L{!}}"Cﬂaﬂﬁmﬁmi
EE; Eow-sfﬁt (D) CO wans =1 a7 s &

The blue coloured mineral ‘Lapisiazuliy, which is used as a semiprecious stone is -

(A} sodium aluminium silicate () zine -_:nha;:ate
S bt honate (D) prussian blue
—Eerl.—:;: ﬂha;f;?ﬁ-%ma foremT THErT arg # T % oEw F fear @ § R

FeTre (13) fm wrEweE
& B @ A

b of 29 [PT.O.
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141 The first crop plant whose genome was sequenced, is :
(A) Rice (B) Wheat i
(C) Maize (D) Oat
e wEA forwer o ot fa o B A
(A) == | (B)
(C) @ (D) =4
142 Genetically mm:f;’licd 'Golden Rice' was invented to combat deficienc
(A) Iron (B) Vitamin - D
(C} Vitamin - A (D) All of the above
Wﬁmzﬁmﬁaﬁmm'mm‘_ﬁm#mﬁﬁmm
a1
(A) ¥t (7) (B) faerfm -
(C) Tyafm - o (D) aites v
143 In heart, Thebesian valve is found in -
(A) Right Atrium (B) Left Atrium
(C) Right Ventricle (1) Left Ventricle
w24 F DA T gy wwr b
(A) =% anfeg & (B) ad anfiiz &
(C) uri Frem & (D) A for i
144 Find the correct option with respect 1o disorders due 1 variation in chromosome
numbers:
(a) Trisomy 13 (i)  Down Syndrome
(b) Trisomy 1% (1i) Patay Syndrome
(c) Trisomy 21 (iii) Edward's Syndrome 9
Waﬁﬂwﬁﬁ?ﬂmﬁmﬁm%ﬁﬂﬂﬁmﬁﬁmﬁmwr
(a) fomgsan 13 (i) =7 figm
(b) P 18 (i) werm fiEiy
(c} Frpmman 21 (iii) wwady figm
(A) Ta)ii), (b)fii), ()-(i) (B (@)-(i), (b)-(ii), (c)-Gii) "
(C) (a)(iii), (b)-(ii), (e)-(i) D) (aki), b)), (e)ii)
145 Which plant tissue culture technique is ygeq 14 raise virus free plants 7
(A) 1lairy Root culture (B)  Meristem culture |
{.C] Node culture (D) Ovary cultyre '
Wﬂaﬁ#ﬁrﬁwﬂmﬁﬁﬂmﬁﬁﬁrmﬁﬁmm%? '
(A) e T e By Frvegae ey |
: ; (L) ; -
(C) oy gaE ; it R iy |
[PTO R
47 ] H ]



which of the
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followine :
Ng 15 a biye :
lue green algac used as 3 Single Cell Protein (SCP) 7

") Spiriding

(C) Aspergillus opyzge (B)  Yeast

F"ﬂﬁﬁﬂq L Ee I Fa— ) Rhodobacter capsulatus

() EEERET ' “Tﬁmﬁﬁ (SCP) %1 e W B ¥ 7
ciency, (C) VNI airesii (D) e

| FgieR |
which among the followin
g struct i el

wr ) (A) Trabsculae Carmae ctures is not a part of brain 7

D50me

IPT.0-

H ) .

[y Ventricle (B) Foramen .::.% Maonro
: (D) Pons Varoli

e CR——

() TEEE wT 5 AL

IC) S D) L

% Antithrombin 111 and Protein C have similar role as in blood clotting.

(B3) Heparin

(D) Caleium

wfe  fod gifma & 7

(A} Plasmin
(Cy Vitamin K

T maﬁ'{g“ra?mcamm.ﬁmmwmha
A} I (B) fEiE
C) feaftm K (D) Hfras

is used to count .
(B) Erythrocytes
(D) Platelets

& e % frg fem W (3

! Cooke's Am;ﬂh Count'
'A) Neutrophils

) Lymphocytes

T AT Frae
(A) =gZiTEed

() fiemranged

9
et soluble ¢ .
" Niaein, C:rﬂm}l:nhalnmm

. . nol
! Which set of Vit& o (1) .
| () Riboflavin, PantoleT () Tocopherol, Retin
o . cid Ascorbic #€! X7
') Nicotinie 86127 : 7
;i:*?’.mﬁmfﬂﬂﬂmﬁﬂﬂ " (B3) WW
(A reerdT, gadfe ) i, YT
©) fqaifefas & q@ia? [ PTO
3l
p |
Y i b
. PR, b o P L0 g .-J! e = ot



